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Exercise 7.7

Question 1:

Va—x*

Answer

Let [ = ['4'4 x dx = JJ —(x) dx
It is known that, j\m:—x:d =§ a—-x a—_;s.in ' Xic

&l
X - 4, | x
=284 —x +=sin"' =+C
2 2 2

x ; . X
=—+d4—x" +2sin E+C

“

Question 2:

V1—4x?

Answer

Letl= [1-4x"dx = [|J(1) —(2x) dx
Let2x =1 = 2dx=dr

_[1,‘. ~(¢) dt

0 Iﬂ X
It is known that. _[wr xlde=2 -+ L sin X4 C

2 2 d
I P
:>f=—|:iw..'l—f2+—5m "p 4+ C
AP 2 |
f - 1 .
=—fl=f +—sin't+C
4 4
2x

=2 1-4x% + lam "2x+C

=a1=4x" 4 ‘;.\;in'121+c
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Question 3:

Jxt+dx+6

Answer

Let /= |Wx’+4x+6 dx
N
=I\.|'x3+4x+4+2 dx

= IJ(J.'E +4x +4}+2 dx

= jJ{x+ 2]3 +[~J’E]2 dx
It is known that, jlﬂu',xz +adx :%\;"Il ba A HE_ log

2 2
X4 Ia‘d‘.—f

2) —
l._‘;:{‘r; ]..."_rz+4x+6 + ilug
2 f
:{JH' ] f_,{_z_;_4_1-+f}+lug(x+2}+ x* +4x+ 6|+ C

2

(x+ 2}— Jal s+ dx+ 6|+C

Questic

\.;'(F+4,r+l

Answer

Let [ = j\h--’ + 4y +1dx
E J.,Jr{x: +dx+ 4] ~3dx
_ ‘[\[{H 2 ~(3) dx

. 3 a X ¥ o r
It is known that, I\.'x' ady = 3 V¥t -a? —?Ing x+yxt-a*|+C

2
o ={x;_} Vai +4x+1 —%Iog‘{x+2]+q‘x" +4x+l‘+{;‘

Quest
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J1—dx—¥*

Answer

Let /= [\1-4x—x dx
- IJI—(::2 +4x+4-4)d
= jmdx
_ J‘\[(,ﬁf_{“zf dx

. 2 73 X 7 7 Hz . X .
It is known that, Iu' g —xdy= 5 a —x +?5m 24O

o

2 ; (x+2)
.'..":{x%]\l'll—lix—x‘ +%sin 'L% +C

Question 6:

Vil +4x-5

Answer

Let/ = [\x*+4x—5 dv
= [J(x* +4x+4)-9dx
= N(x+ 2) —(3) dx

It is known that, jw‘x" a‘dx = ; Jxt-at ﬂz— log x+yxi—a* +C

1+2) 1 -
| =(l~;—] Val+4x-5— 3 log (x+2)++/x° +4x—5‘+C

VI+3x—x°

Answer
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Letl = jq'l +3x—x7dx

:JJ]—[xz—3x+§—3]dr
-3
LGSR

. = 4 X P 5 az . X
It is known that, |va™ - x " dx =§ﬂ,|'ﬂ" x4 sin ' =+ C

2 a

3 3
- 13 o
ST = 2 J14+3x—x* +——sin == [+
2 x2 V13
o2 )
2x-3 - 13 . ,(2x-3)
= JI+3x—x" +—sin' +C
4 8 \ I:';' J
Que
|Il z
Vot +3x
Answer

Letf = |+/x” +3x dx
I

= JJf +3x+E—Eaﬁ'
4 4

2 IROE
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It is known that, jw'xz —a'dy= %«4‘:{2 -a’ —%-Iﬂg x+yx'—a’ +C

3

9

[H_} 9
= 22 ¢x3+3x—glng[1+%j+\f12+3x+L‘
[x+%]+u'f+3x’+(!

= {ZIIS} Jaxt +3x - %Iug

Question 9:

1+
9

Answer
Let/ = [ f1+ * =) [Vo+x* dx = ! _l-..‘,l'I{?’}z-—I}dx
9 3 3

It is known that, Iﬁ..".‘l;z Fatdy = ;\}11 Fat I—% log

3 3| -
x4+vx +a |+C

) I x = 9
,,I—E{;wr +9+—log

I 4
y+x +9H+L

___;‘er? +9 +§log‘x+v‘fx_2:+9 +C
Question 10:
Iu'l+x2 dx

is equal to

X5 +llngx+~.."] Fx |+C
A 2 2

2{h.r‘)‘- +C
B.

r{l 1 .1':]-" C
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3
x 1
—l+x =y |ng‘x+w.l'| +x°
D. 2 2
Answer

It is known that, |va® +x dx = %x}'az +x +a—2_|0g

+C

e T C

J'wu'l+3r2.:i*:=%wu'lﬂr2 +%I~:}gx+u'l+xz‘+c

Hence, the correct Answer is A.

Question 11:

J}."x’ —8x+ Tdv
is equal to
%{_r—4)1|'x2—8x+? +9log

:c—4+1!x1—ﬁx+?‘+l’;‘

A.
%l’l’x+4]u‘x3—ﬁx+? +9log x+4+v'lx':—3x+7‘+c
B. -
%{x—ﬂl}\f.‘c:—ﬂx+?—3@5|{}gr—4+xﬁx3—ﬂx+?‘+[’f
C. =
e [
];{_r-ar}«.ax-’-Rx+?—%logx-4+qx’—ﬂx+? +C
D. -
Answer

Let [ = j'x.fx-’ —8x+7 dx

= [ —Bx+16) -9 dix

= j (_\:—4}3 —[:.'-i}3 dx
It is known that, Iw‘x" i dx = %xl'xz—az —%Ing x+yxt—-a*|+C
% {x_4} { 2 9 3 -
o= Vx —Bx+?—Elog‘{x—4}+\l'x —8.r+?‘+{,

2

Hence, the correct Answer is D.
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Exercise 7.8

Question 1:

fxdx

Answer
It is known that,

=il

r_,f' {x}dx = {b - rf)liml[_f(a] + _f'(fH h] + ..t _:"(ﬁ | {1?— l)h}], where i = b
] =X n
Here, a=a, b:b,and_f'(x)z.r

n

J xde=(b-a)lim |:a| a+h). (a+2h). a+(n 1A |
w A n -

=(!)—a:|liml [a+a—a+ ,,+a)+{.":+2h—3h— +|:n—1)h]—‘

-k B M umes

.1 I
=(h—a]rl’n:r];|:na+h[1 +2+3+..+(n-1))

(n-1)(n)
=(b- a]llm— na+h{T’:|

" f”_
—1h
=(b a) llm1 ncu”{” ) ‘
- g 2
(.PJ l}h

—(::‘)—::r]llmE at+———>
e gy

(b—a)lim| a+

=(b—a)lim| a+ -
(5-allim) a+ >
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Question 2:

f{x-i—l}dx
Answer
Let/ = [ (x+1)dx

It is known that,

_[Tf(x}a‘h:=(b—a}1iml[j‘[a]+f(a+ »’?]...f{a+[n—l]hﬂ. where =

Ll H
Here,a =0, h=35, undf{x}=[x+1}
5-0 5

n

= h=

= |

:Smg_w[zw---{'+£~“:”JH

=5Iim—|_(|+|+l---')+[§+22+3'£+"'(”_1}Eﬂ

I L n " i n

o lanes

i s
=5lim-|{n+ =" {1+2+3. (n-1)!
1 ( )J}

n—x 1

1
=5lm—| n+—-
M= H n 2

:5Iim—|_n+5{n_l)}

n—x g 2

Quest
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Jj xdx

Answer

It is known that,

J| 7 ()= (b-atim= [ £ (a)+ £ (ash) s £ (as20).... for+ (n=1)A} ], where ="
) e n
Here,a=2.h=3, and_f'{x] =y’
o h= 3-2 =l
n n
[t = (3-2)lim - f'{2]+f'[2+1]+f'[2+2J f'{2+(n—1)1}>
: e nl n) [

2 3 z 1 2
=lim ! {2]2+[2+.I] +[2+—] +___[2+(” }J }
Ir—ixn n ” \ n

= im]—_ epH L :+ 2.0 J :+{”_1}:+ . .("_I”.
- 2+{2[J22}...+(2} 3. ]]

e n 7]

1 , , [ 1 2 2 2
=lim— (2 +...+2 )+ — |+ = +
= H times l H \ 1

&

_tim 1| an+ I: {1"+2"+3"...+|[n—l}:}+4{’|+2+.__+(n—l}}}
"

L rF_ ‘!j
:lim1 dn+ |ﬁ{”(ﬁ—l]{2n—l} +4 H(H—l”

"l | 6 n 2|

n ] |
n[l— 1[2__1

=|l'ml dn+ nJ n) 4n-4

H—+ gy 6 2

2

=lim d+l[]—]][g_lj+2_—

T {'j " n p

2

=4+ —+2

_19
3
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Question 4:

r(xl —I)dx

Answer

Let f = _r(x3 —x)dx

= f.rzdx— f.xdx

Let/=1,~ 1, where I, = [ x’dvand I, = [ xax (1)

It is known that,
rf{x}dx=(h—a}liml[f[n]+f[a+h]+f[a+{n—I}h}], R ©
o o g n

4

For/, = _[1 X,
a=1b=4 andf(x)=x

h=?=%
I zjl-l_xﬁgh-:(xl—]}'im I [f.{l}+lf.(]+h)'+"'+f(l+{”_I}h)]

e gy

g 3 2y 2 _ 3\2
=f‘5h'ml IJ+[I+'—] +LI+E-EJ +...[1+—[n ! J ]
il—i-.l:j? I\' n n n
:3”ml ]:++:+[E]_+2_E}+I”+J]:+[[u—l]3} +2-{n—|]-3}]
e n n l n n

Y

n—s® o limes "

=3liml (]1+...+I3)+[EJ: [IE+2: +,..+(lir—I]E}+2~%{l+2+_..+(n—l)}}
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= 3lim l{rwi{(”_ () (2 '}}Jﬁ{["}MH

g . 6 n

n
- 3Iiml n+g—n(l—l][2_l]+ 6n-6
H—w 6 i " 2
:3Iim{l +E[1 —l][g_l};_E]

s 6 " " "

=3[]+3+3]
=3[7]
=21 (2)
For [, = _rxfix,
a=1b=4, andf(x)=x
~4-1 3

= h=—-=—
noon

ol =(4- ]}Jlllini[,r‘{ D+ f(1+h)+..f(a+(n- |}h]:'

:3|im'rlu{||m|...|{|u{n 1)) |

= g L

=3IimI
LE ]

(3 o 3]
IIL] ,;.|I"'I |~I|(n ”na

_3rlir1zu1—“]+l +...+|)—§(| +2 +...+(n—1]j‘J

v H A times

15

R )

From equations (2) and (3), we obtain

I, =
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1=1+1,=21-2_27
: 2 2

Question 5:

Le“dx

Answer

Let = [ e'dx (1)

It is known that,
b—a

[ff{x}aa; — (b-a)lim ! [f(a)+ f(a+h). f(a+(n—1)k)], where h ==

n-se g "
Here,a=-1, b=1, undf{x) =g"

gt 2
n H
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s 1=(1 +1}}|ﬂ${f‘{—]}+,f‘[—1+%)+_r'(—l+2-%]+...+.f'{—l+ {”;ljzﬂ

1 (s3] w2l (-1 ]
=2lim—| e+ Ve Vi g n;

A= g

2 4 & W2

bl H ] -1 a ] H [ 1IIJ

=2lim—| ¢ {l+e" +e" +e" +¢
ﬂ—”.’”

n—wm gy 1

Question

_[:[Jc +e™ ] dx

Answer

It is known that,

Ll o lp . . h—a
N =(h-a)l )+ ~1)h 1 h=

L F(x)de=( ca}”u:gn[_f{a]ﬂ,f (a+h)+. .+ f [.r.r+[n ) ]],W'IEI'E .

Here,a=0, b=4, and f (x)=x+¢™*

.',h=4_ﬂ=4

n H
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PR VT PPN [ . . (fo
= | (x+e™ e =(4 ﬂ]llruﬂ”[_,I'{ﬂ}+l,lf[h}+|f{2h}+...+j{[n 1)h)]

- stim [(00) (s ) (2 )ocrllo-1r et ]

A g

— i l 2t el _ e
—4}111.];]”[]+{h+f_ )+ (2h+e }+...+{(u 1) h+e }]

— 4lim ] _{h+2h+3h+...+[n—|)h}+(1+u”+e"‘ +o e ”‘"}}
e L J
-'411'ml_h{l+2+ {n—])}+ e 1)
_r{ —1 2
_atim 1| (102 }”}+{GL l
=r e -1
- O
=411'ml i.{”_]}”+[i_l ]
movE g i 2 h
L " =1
et -1
=4(2)+4lim { )
e
e" —1
i
4-(e" -1 -
=8+ {{ } {IimE I:I]
) 0 x
Jﬁ_
=8+ !
2
_15+¢°
T 5
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